HOMEWOrK: Section 4.4 on Pg. 138 ; #2-3aN

Exl Find all values of x so that; x*=-x>6

a) using a graph
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Ex 2 Find all values of x so that: =2x¥ 212 - 5x
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Ex 3 The height of a ball above the ground [H, in metres) thrown from a building after ¢ seconds is given by
H(t) = —4.9t% + 15.8¢ + 22.8. When is the ball 30m above the ground?
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Ex 4 Mr, G is buying green blue highlighters for marking. The green highlighters cost 52.50 and the blue

highlighters cost 52_25. He wants to buy at least 15 highlighters but needs at least 8 green highlighters. He
can’t spend more than 550. Write a system of inequalities to describe the situation.
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